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E B & X

TH% SMTEE B - RETMASERTE (F) 29218 LT A>3 D
I=EXS - IE - &5 R - AR HER HA| #®E 1 =
BT XRELEHY BEHEELY
EEIT FHuERE Q) Bt (2) Bt (3)
HEE T8 A—FrHhv b 6,622.7 + 405.6 42.8 + 24168 = 9,487.9 m3 [ 9,500
el 18 HIEH 00 + 2589 00 + 952 = 354.1 m3 350
RIEL FHugEE Q) Bt (2) Bt (3)
KiEY TR 280.1 + 44.0 68.9 + 2124 = 605.4 m3 600
BERAR L T FHugEE Q) Bt (2) Bt (3)
BiFE+ B4 2.5mXkiH 69.7 + 0.0 0.0 + 1651 = 234.8 m3 230
ikt B5 2.5m E4.0mEKH 9.4 + 0.0 0.0 + 2832 = 378.6 m3 380
ikeE+ B6 4.0ml E 4,059.4 + 0.0 220.1 + 6,034.9 = 10,314.4 m3 | 10,300
FEPRAR T FHugEE Q) Bt (2) Bt (3)
BEAREEL Bl 2.5mKim 3.3 + 0.0 07 + 138 = 458 m3 50
BEAREEL B2 2.5mLLE4.0mK 180 + 0.0 00 + 419 = 599 m3 60
BBREEL B3 4.0ml E 1,0354 + 0.0 235.6 + 14759 = 2,746.9 m3 | 2,700
HEALTT FHuERE Q) Bt (2) Bt (3)
BEE+T B7 SXIERIEIMEABIERL) 881 + 0.0 314 + 1024 = 2219 m3 220
®ixNEt: B8 00 + 00 00 + 288 = 288 m3 —
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TH% SMTEE B - RETMASERTE (F) 29218 LT A>3 D
TEXs - ITE - &5 Rl - g HER HA| #®E 1
ERLI FiERE  BTQ) Bt (2) Bt (3)
EBRL EXREREIMUE 00 + 00 00 + 00 = 00 m3 -
EBRL BAERERIMUEAmEKTE 292 + 125 131 + 903 = 145.1 m3 150
EBRL BXIEREI MRS 1777 + 137 299 + 542 = 2755 m3 280
EEEET
E@EEIE Zaw= 804.4 m2 800
EEERLT FiERE  BEQ) Bt (2) Bt (3)
EEER (YL 8) 466.7 + 409.1 04 + 15755 = 24517 m2 | 2,450
EEER (B 250.8 + 0.0 272.3 + 2,078.1 = 2,601.2 m2 | 2,600
TRLERT L=13.6km@#nRIt) FERE  BTQ) B (2) Bt (3)
BT BT TEL Ey-E2 e
BA(L—X) +# 6815 + 679.4 478.1 - 6,516.8 = sTti;gto m3 | 5,600
TREERR 1R ZE#¥ 15.5kmETF -5,634.0 m3 | 5,630
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T = 8 8 8 & %
TH% SMTEE B - RETMASERTE (F) 29218 LT A>3 D
TEXs - ITE - &5 Rl - g HER HA| #®E 1 =
EEL BEHEELY
EE T FRRERE Q) Bt (2) Bt (3)
EE— b HEY—FT BRSEGEER) 466.7 + 4091 + 04 + 15755 = 24517 m2 | 2450
lEE=y b Wt~y T BRIERE 250.8 + 0.0 + 2723 + 2,078.1 = 2,601.2 m2 | 2,600
fET
AR T FRRER Q) Bt (2) At (3)
3191.9m2IcH LT50%5T
REEEEIE 1800.1 + 176.1 + 247.8 + 967.9 = 31919 m2 | 1,600 BCIES:)
FRT Il REBET PN ] #%No0.11~No.14+6.0 EAMH ), No.45+16.0(#% SEIHH)~No.51
TRERE(EE - BEER) B£5 7 v v—7RC-40 t=42cm 1800.1 m2 | 1,800
FERE (FE - BRFER) HEFAZRAEM-40 t=15cm 1800.1 m2 | 1,800
xKE (FiE& - BER) BAEBREAs20F t=5cm 1800.1 m2 — BB RS
TR 7V NEEET En{iEEg (1) No.0(Z#No,1213) ~No.3+0.665 (EE292% & 15H)
TIEREE(EE - i§EER) B%% 5 v v—5RC-40 t=15cm 176.1 m2 176
FERE (FE - BRFER) HEFAZRAEM-25 t=10cm 176.1 m2 176
xRE (HiE - BRI BAEEREAS20F t=5cm 176.1 m2 176
TR 7 NEEET EX{iEEg (2) #No.0(F#ENo,12133i) ~No.4+2.065 (1058 & )
T B (EE - BREER) BEY 5 v & —F RC-40 t=15cm 247.8 m2 248
LB (FE - BRFER) HEFAZRAEM-25 t=10cm 241.8 m2 248
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kY 73 E ,\
T & ¥ 2 # B X
e AN
IH% SHTEE B3 REXHL(EHTE (F) 2928 Bl A>3 e T
ITEXH| b
TEXS - I - &5l MR - RS FE H| #E £ 2
RE (FiE - BEED) BEZREAs20F t=5cm 247.8 m2 248
27 7L REEET B8R (3) 3No.0(EE292% & &) ~No.14+12.353(IH;& & IEH)
TERE(EE - IBER) B4 5 v +—5vRC-40 t=15cm 967.9 m2 968
LB (8 - B§EER) FiFE BB AM-25 t=10cm 967.9 m2 968
=B (EE - BEih) BAEBNEAS20F t=5cm 1025.9 m2 [ 1,000
Hek s T AEER ¥No0.11~No.14+6.0 2EEIH D). No.45+16.0(&AEHTA)~No.51
AET
Aw=
Ty R MUBELE PU3-30(G& 5.5 7R UBHE) £100cm 255.2 m 255 0.56%255.2=142.9m?
Aw=
RVyF7YVa—A BF 11 -500 22.1 m 22 0.65%22.1=14.4m2
Aw=
BHEQERAE HEWTR (1) 300 x 400 256 + 256 = 512 m 51 0.67*51.2=34.3m2
Aw=
BHEQERAE HEHTR(2) 300 %500 180 + 180 = 36.0 m 36 0.67*36.0=20.1m2
XEsecmAFSHICETEND ¥#$Ea x+0.06
A =P e 18-8-25BB W/C=60%LTF 158 + 158 — 87.2mxi&30cnmxE5cm= 1.85 m3 2 (BUREEY)
fiE= BEURZE 308 (39x10x50) 255.2m / 050m = 510 (54 510
fiE= COZ 300 L=0.5m M 872m x 8% / 10m = 70 xCoEW=31.0g/#) | W 70
fiE= GRE 300F(T-25) L=1.0m R5EE 872m x 1% / 10m = 8 xGrEW-=238kg/#)| W 8
EET
Aw=
Earo)—rEAE PI%E300 x ££2,000mm 8.6 m 9 0.44*8.6=3.8m2
Skt - v R—ILT
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kY 73 E ,\
T & ¥ 2 # B X
T4 SMTEE B - REXELEHTF (F) 2028 HlH KL~ Fo iRt
TEXo|(brr
TEXS - I - &5l MR - RS FE H| #E £ 2
Aw=
1537 H Sk H4(B500 x H600) No.11+16.92(%) 18-8-25BB 029 m3 XL —F > 5E(W=46.5kg/H%) BT 1 0.36m2
Aw=
1537 £k #4(B500 x H600) No.11+18.30(%) 18-8-25BB 030 m3 XL —F v 5E(W=46.5kg/%) BT 1 0.36m2
Aw=
1537 £k H4(B500 x H600) No.12+1.72(%) 18-8-25BB 030 m3 XL —F > 5E(W=46.5kg/H%) BT 1 0.36m2
Aw=
1537 £k H4(B500 x H600) No.13+7.12(%k) 18-8-25BB 029 m3 XL —F v 5E(W=46.5kg/%) BT 1 0.36m2
Aw=
BIHHTHEK#(B500 x H700)  |No.48(#) 18-8-25BB 0.30 m3 XL —F ¥ JE(W=46.5kg/#) &Lz 1 0.36m?2
Aw=
BIHHTHEk#(B500 x H700)  |No.48(%k) 18-8-25BB 0.34 m3 XL —F ¥ JE(W=46.5kg/#) &Lz 1 0.36m?2
Aw=
IRi53T 5 £k #4(B600 < H600) No.11+7.00(%k) 18-8-25BB 0.35 m3 XL —F > 5E(W=46.5kg/H%) IEL 1 0.49m2
Aw=
IRIS$TH £k #1(B800 < H1100) |No.51+4.97(%) 18-8-25BB 0.95 m3 XFL—F v rEW=117.9kg/#). B#<E2@ | HFF 1 0.49m2
kST E{tiER& (1) % No.0(F#No,121$3%) ~No.3+0.665 (Eli&292 5 & ##)
AT
Aw=
7L¥ ¥ X b LEAGE PL2%4300 500 x 155 x 600 48.2 m 48 0.55%48.2=26.5m2
Aw=
¥y R FUBAELE PU3-30(& 5.5 7-UBE) &100cm 64.0 m 64 0.56*64.0=35.8m?2
Aw=
RYF7Ya—L4h BF 11 -300 1.2 m 1 0.44*¥1.2=0.52m?2
S BEURE 308 (39x10x50) 640m / 050m = 128 128
BHET
Aw=
TR R K B’ BEOFy 4 ZANS— b | B JE300mm 3.2 m 3 0.52*1.2=0.62m2
Eoktt - v v R—IILT
Aw=
BB H &k #1(B500 X H600)  |No0.0+10.185(%) 18-8-25BB 029 m3 T L—F ¥ 7 E(W=46.5kg/#) BiFR 1 0.36m2
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I = 8 E & B %

THL SHMTEE Bi5 - Re2@EMTE (B) 2028 #bd Kb 30 FrEAl
TEXo|(brr
TEXS - I - &5l MR - RS FE H| #E £ 2
Aw=
IRIB¥TH K #4(B500 X H600) No.2+16.08(%) 18-8-25BB 0.30 m3 XL —F > 5E(W=46.5kg/H) & 1 0.36m2
Aw=
13537 H £k H4(B500 x H600) No.0+10.185(%) 18-8-25BB 034 m3 XL —F > 5E(W=46.5kg/H) &k 1 0.36m2
Aw=
13537 H £k H4(B500 x H700) No.0+10.185(%) 18-8-25BB 0.35 m3 XL —F > 5E(W=46.5kg/H) & 1 0.36m2
Hek S E Y T &R (2) 3No.0(F#No,12F5E) ~No.4+2.065 (|HiE & 3E55)
AET
Aw=
7L% v X bLEALE PL2%#4300 500 < 155 %< 600 81.0 m 81 0.55*81.0=44.6m?2
Aw=
¥y X FUBALE PU3-30(&5 5. 7- 2 URAE) &100cm 93.4 m 93 0.56*93.4=52.3m2
Aw=
RVyF7Ya—A BF 11 -300 47.8 m 48 0.44*47.8=21.0m2
fiEE BEURZE 308 (39x10x50) 934m / 050m = 187 187
BRT
Aw=
TR R R KRR BOFEy 7 ZH 5= b | B FE300mm 4.5 m 5 0.52*%4.5=2.3m2
Skt T
Aw=
IRIH¥TH K #4(B600 < H600) No.0+9.125(%) 18-8-25BB 0.37 m3 XL —F > 5E(W=68.6kg/H) &k 1 0.49m2
Aw=
IRIB¥TH K #4(B600 X H600) No.0+12.950(%) 18-8-25BB 0.37 m3 XL —F > 5E(W=68.6kg/H) &k 1 0.49m2
Aw=
IRIB¥TH K H4(B600 < HI00) No.0+14.820(%) 18-8-25BB 050 m3 XL —F > 5E(W=68.6kg/H) &k 1 0.49m2
PEkigEY T B{FiE&(3) 3¥No.0(EE2925 & ##) ~No.14+12.353(IR:& & $H)
AET
Aw=
7L% v X bLEALE PL2%E4300 500 x 155 %< 600 297.5 m 298 0.55*%297.5=163.6m
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T £ # 2 £ B X
e AN
T4 SMTEE B - REXELEHTF (F) 2028 HlH KL~ Fo iRt
ITEXH| b
TEXS - I - &5l MR - RS FE H| #E £ 2
Aw=
Z7L¥ v X FUBE PU1-300 &100cm 59.3 m 59 0.50*59.3=29.7m?2
Aw=
Z7L¥ v X FUBEE PU1-600 &60cm 52.4 m 52 0.80*52.4=41.9m?2
Aw=
Z7L¥ v X FUBELE PU1-600 £60cm (/MEk#E7K) 27.9 m 28 0.80*%27.9=22.3m?2
Aw=
FL ¥ v R FUBEE PU3-300-500(%5.57- XU I#) £100cm 335 m 34 0.56*33.5=18.8m2
Aw=
RYyF7Y)a—L4h BF 11-300 142.5 m 143 0.44*142.5=62.7m2
IS BEURE 308 (39x10x50) 335m / 050m = 67 67
BRT
Aw=
BT E R K EOHHKHI > o Y — FE2E KE600mm 53.9 m 54 0.95*%53.9=51.2m2
Aw=
SRR R KRR EDH Y 7 ZHAN8— b | B JE300mm 4.2 m 4 0.52*4.2=2.2m2
Sk T
Aw=
IRIS¥TH EkHE(B500 X H600) |No.14+2.35(%) 18-8-25BB 032 m3 L —F v 7E(W=46.5kg/#) &R 1 0.36m2
Aw=
IRIS¥TH EkHE(B500 X H600) |No.14+8.74(%) 18-8-25BB 030 m3 L —F v 7E(W=46.5kg/#) &R 1 0.36m2
Aw=
IRIS¥TH EkHE(B500 X H700) |No.0+10.00(%) 18-8-25BB 0.36 m3 L —F v 7E(W=46.5kg/#) &R 1 0.36m2
Aw=
13537 H EkH4(B500 x H800)  |No.0+10.00(%) 18-8-25BB 0.37 m3 ¥ TL—F v 7E(W=46.5kg/#) &R 1 0.36m2
Aw=
IRIS¥TH EkHE(B600 X H600) |No.14+2.35(%) 18-8-25BB 0.35 m3 L —F v 7E(W=68.6kg/#) &R 1 0.49m2
Aw=
IRIS¥TH £k HE(B800 X H800) |No.13+5.00(%) 18-8-25BB 0.57 m3 XL —F 2 SEW=117.9kg/#) &R 1 0.81m2
Aw=
IRIS¥TH £k (B800 X H900) |No.10+18.37(%) 18-8-25BB 0.64 m3 XL —F 2 SEW=117.9kg/%) &R 1 0.81m2
Aw=
IRIS¥TH £k (B800 X H900) |No.11+15.54(%) 18-8-25BB 0.64 m3 XL —F 2 SEW=117.9kg/#%) &R 1 0.81m2
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T = 8 8 8 & %
TH% SMTEE B - RETMASERTE (F) 29218 LT A>3 D
I=EXS - IE - &5 R - AR HER HA| #®E 1
Ri53TH &k #4(B800 x H1000) |No.10+18.37(%) 18-8-25BB 0.60 m3 HYL—F» yEW=117.9kg/B0). B8 | BFR 1 3.?1=m2
RiHITH &k (B800x H1000) |No.11+15.54(%k) 18-8-25BB 0.60 m3 XKIL—F Y 7EW=117.9kg/#). BHi&E2@ | BifF 1 Q.glzmz
Ri53TH £k#4(B800 x H1000) |NO.13+5.00(%) 18-8-25BB 0.60 m3 HYL—F» yEW=117.9kg/B0). B8 | BFR 1 3.?1=m2
BEYHET
BEYEEL T
SHERhRYIBR AsifiZEhR  t=5cm(Z85E) 17.2 m 17
ELE I AsEifRhR t=5cm(#87%E) 1250.9 m2 | 1,250
ELESTRE CoffifhR _t=10cm(185E) 332.2 m2 330
avsy)— FMESYIUEL EHBEY (CoffizkhR) 3322 x [E10cm = 33.2 m3 33
Ay — MEEYEUEL HKEFEIEY QRBR) 19.2 m3 19
ERALIE T
AsTENR T A7 7V TR 1250.9 x [E5cm = 625 m3 63
Aszziloy T A7 7V ERR 625 x 230 = 1438 t 144
CoiE i EHBEY (CoffizkhR) 33.2 m3 33
Coms sy EHBEY (CoffizkhR) 332 x 235 = 1780 t 78
CoiE i HEEEY 2QREM) 19.2 m3 19
CorglLsy avsY—r2RES 19.2 x 250 = 481 t 48
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= 8 /& ()

(RN R ILEDIAER)

4
i

I 7& A Al ] B # = =
EERLET HEHEI T A—T2hyk Ct m3 5,714.9

A—T vk C2 m3 249.0

B+ T
BEELT B 2.5mk i m3 31.3
IR +B B2 2.5mLl _F4.0mE i m3 18.0
R+ C B3 40mil + m3 1,035.4
RIA%+B B4 2.5mk i m3 69.7
IR +C B5 2.5mLl _E4.0mE i m3 90.4
RIAB+D B6 40mLl E m3 4059.4
BE®HLT B7 m3 88.1
BiAsEE+ B8 m3 159476

EELTT
FRE m3 938.9 |=280.1+658.8
BR e XANIERIE4mELE m3 0.0

BAIEREIEImBL FamEE | m3 29.2 |=29.2
BEXKERIEImERH | m3 177.7 |=120.4+57.3

Kt m3 (681.5)

EET Y& CL m2 466.7
B tiEm BL m?2 250.8
Y tEmiEE<T YT CL m3 466.7
A EmiEEL—~T BL m3 250.8

AfRERR1



RY 14 =
=B FE X (2 (KIRYRILZ DI
I 7& A oAl ] B # = =
HET
AiggE
— & =E BABHETZA3020F)| m2 1800.1 [t=5cm
L ERRAR FiIE SRR M-40) | m2 1800.1 [t=15cm
TR BEH790v—70(RC-40)| m2 1800.1 [t=35cm
CEEMEH Bt=TomS L)
HEKEEYMT .
':'H“EE*E
fET TERTERET RB-B600-H600 m 0.4 | (roRILERD)
RB-B800-H800 m 10.7
BFZ!{8I;& BFE2-300 m 726
BF2-500 m 22.1
PU1ZY A1 PU1-600 m 217.4 | (roRIVER)
PU1-800 m 88.9
PU3ZEY Al PU3-30 m 255.2
PU3-30-500 m 68.9
ANERBEK T BE2-300 m 727
HEEEAKT BE2-300— m 104
KRBT +=0-5m m2 3145
HTREEKE D600 m 870
f b 2T b 9

AIRERE2



M= #E x (3) (KNEYFILE DAL
I & i oAl B O® ¥ E =
HKEEYMT
EET
g D300 8.6 —
D300 4.9 | (roIVER)
BEERJIFLUE| ¢ 300 52.7 uﬁ%
B B D EfEIE
VS-B300-H(400-500)
NO.45+16.00~N0.47+19.60(L) 43.6
B300-H400 m 25.6
B300-H500 18.0
HEAEI ) —k 1.58
VS-B300-H(400-500)
NO.45+16.00~N0.47+19.60(R) 43.6
B300-H400 25.6
B300-H500 18.0
HEAEI YY) —k 1.58
Skt woh—L T | SEIK G=B500=H500 BE 3
G-B500-H600 BT
G-B500-H700 BT 1
G-B600-H600 BT 1
G=B600-H1200 A ¥
G-B800-H800 i L
& Fr 2 | (FoRIVRR)
G-B800-H1100 i L S
& FT 1| (FoRILRR)
G-B800-H1600 BiA ¥
G-B1000-H1100 BiA ¥
G=B1100-H00 B 2
G=B1100-H1400 EiiR 1
G=B1200-H1200 B 2
JLExvRh2oR—ILT |05MH-H1400 i 1 (ﬁ%

AHREE3



+I HEE

£ 7 5t g = =28 ) =
A—Fohvuk Cc1| v= 57149 = 57149 | m®
A—Fohvk 02| v= 2490 = 2490 | m°
PERE T ERIE 3
H—Fohuh) V= 6588 = 658.8 | m
g+ &t 66227 m®
WKL
B1(2.5m*k i) v= 313 = 313 m?
B2(25mil E4omk)| V= 180 = 180 m®
B3(4.0mklE) V= 1011.4 24.0 = 10354 | m®
BixEL
B4(2.5m3kiE) V= 69.7 = 69.7| m?®
B5(25mEl E40mE )| V= 904 = 904 | m®
B6 (4.0mLlE) V= 4017.1 42.3 = 40594 | m®
BEZL V= 88.1 = 88.1| m®
BRiksisi V= 150476 = 150476| m°
+F+ V= 663 = 663 | m° [B3LB6IZEtE
Bt aEt 53923 | m?®

AHERA




TT HEE
% [ i ' R® B B =
EXET
IMBEWMTIRIE | v= 2446 + 355 (FEA#tI) 280.1 | m°
mS
it 280.1 | m°
IMNEEYIER
(RAEREmMUL)| V= 00 00| m®
@rEREmLLmE®| V= 00+ 202 (FEKBIET) 292 | m®
(RAEBERBImER)| V= 1204 1204 | m®
it 1496 | m°
PEEE T PR1R
F—Fohyb) | v= 6588 658.8 | m°
m3
it 658.8 | m°
HEETERE
(RAHERIBAmE L) V= 00 00| m®
(BAERE B EamE®)| V= 00 00| m®
(RAERBImEH)| V= 573 573 | m°
it 573 | m°
vt
(F—=Frhub) IMBIEY TR
&t 6,6227 + 2801 + 69028 | m° 6,902.8
Bt gEpTER  BEETIER
& 53923 + 1496 + 573 55992 | m® 5,599.2
Et 69028 - 55992 / 09 6815 m° (681.5)
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ERITIHESHESE
#A1 A—THhvk Ci F—T Ayt C2
Al = iR i =
B0 B EiEM. F¥m® AEm | @Em’ EHm’ | FEN | @En FEm’ AEm | @EmY | Mt fEn

Ne. 0 + 0000 65 6.50 0.0 0.0 0.00 0.0
Ne- 1+ + 0000 20000 7.0 675 1350 08 040 80
Ne. 1 + 1360 1.360 6.9 6.95 95 0.7 075 1.0
Ne. 2 + 0000 18640 71 700 1305 00 035 65
Ne. 3 + 0000 20000 6.8 695 1390 0.0 0.00 0.0
Ne. 3 + 15324 15324 6.1 645 988 00 0.00 00
Ne. 4 + 0000 4676 52 565 264 44 220 103
Ne. 5 + 0000 20000 34 430 80| 195 1195 2390
Ne. 6 + 0000 20000 183 1085 2170 06 1005 2010
Ne. 6 + 90288 9288 118 1505 1398 15 405 376
Ne. 7 + 0000 10712 258 1880 2014 212 1435 1537
Ne. 8 + 0000 20000 247 2525 5050 150 1810 3620
Ne. 8 + 19288 192838 247 2470 4764 0.2 760 1466
Ne. 9 + 0000 0712 246 2465 116 02 020 01
Ne. 10 + 0000 20000 00 1230 2460 00 0.10 20
Ne. 10 + 10000/ 10.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 0.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 17.145 17.145 0.0 0.00 0.0 1.7 0.85 14.6
No. 12 + 0.000 2.855 0.0 0.00 0.0 338 2.75 7.9
No. 13 + 0.000 20.000 35 1.75 35.0 15 2.65 53.0
No. 13 + 10.000 10000 229 1320 1320 0.0 0.75 75
No. 14 + 0.000 10.000f 375 3020 302.0 0.0 0.00 0.0
No. 14 + 6.000 6.000] 375 3750 2250 0.0 0.00 0.0 2 R Rl P
No. 14 + 6.000 0.000 00 1875 0.0 0.0 0.00 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 .
No. 43 + 0000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 iﬁgi?l’:’_%ﬁ "
No. 44 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 =R
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 0.000| 2284 114.20 0.0 0.0 0.00 0.0 ¥ Rl
No. 46 + 0.000 4000| 2284 22840 9136 0.0 0.00 0.0
No. 47 + 0.000 20.000 814 15490 3098.0 0.0 0.00 0.0

N F 730.000 4705.6 83.0 0.0 0.0

AHRIE K6



HRTTHEMHEE

7 A—THEHICT A—TEHIC2
= iR i
EE B EiEm’ | E#m’ | FEn | BEm’ M’ EEm | @’ EOm? G| BEmS EmT R

No. 47 + 0.000 81.4 0.0
No. 47 + 10.000 10.000 39.6 60.50 605.0 0.0 0.00 0.0
No. 48 + 0.000 10.000 21.9 30.75 307.5 0.0 0.00 0.0
No. 48 + 5.000 5.000 0.0 10.95 54.8 14.4 7.20 36.0
No. 49 + 0.000 15.000 0.0 0.00 0.0 0.0 7.20 108.0
No. 50 + 0.000 20.000 0.0 0.00 0.0 1.1 0.55 11.0
No. 51 + 0.000 20.000 4.2 2.10 42.0 0.0 0.55 11.0
No- +
No. +
No- +
No. +
No- +
No. +
No- +
No. +
No- +
No. +
No- +
No. +
No. +

h ; 80.000 1009.3 166.0

& 810.000 5714.9 249.0

AEERRT



ERITIHESHESE
#A1 BEKETA Bl BERETB B2 B TC B3
pilf=1 R 2.5mEH 2.5mEl F4.0mEKiE 40mLLE B =
B0 B EiEM' F¥m® FE | @Em’ M’ FEN | @En M’ A | @EmT Em | FEm

Ne. 0 + 0000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 1 + 0000/ 20000 00 0.00 00 00 0.00 00 0.0 0.00 00
Ne- 1 + 1360 1.360 00 0.00 00 00 0.00 0.0 0.0 0.00 0.0
Ne. 2 + 0000 18640 00 0.00 00 00 0.00 00 0.0 0.00 00
Ne. 3 + 0000 20000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 3 + 15324 15324 00 0.00 00 00 0.00 0.0 0.0 0.00 00
Ne. 4 + 0000 4676 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 5 + 0000 20000 00 0.00 00 00 0.00 0.0 0.0 0.00 00
Ne. 6 + 0000 20000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 6 + 90288 9288 00 0.00 00 00 0.00 00 0.0 0.00 00
Ne. 7 + 0000 10712 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 8 + 0000/ 20000 00 0.00 00 00 0.00 00 62 310 6820
Ne. 8 + 19288 19.288 0.0 0.00 0.0 0.0 0.00 0.0 6.4 630 1215
Ne. 9 + 0000 0712 00 0.00 00 00 0.00 0.0 64 640 46
Ne. 10 + 0000 20000 0.0 0.00 0.0 0.0 0.00 00| 158 1110 2220
Ne. 10 + 10000/ 10.000 0.0 0.00 0.0 0.0 0.00 00| 158 1580 1580
No. 11 + 0.000 10.000 0.0 0.00 0.0 0.0 0.00 00| 157 1575 1575
No. 11 + 17.145 17.145 0.0 0.00 0.0 0.0 0.00 00| 114 1355 2323
No. 12 + 0.000 2.855 0.0 0.00 0.0 0.0 0.00 00| 102 10.80 30.8
No. 13 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 6.1 815 163.0
No. 13 + 10.000 10.000 1.7 0.85 8.5 0.0 0.00 0.0 0.0 3.05 30.5
No. 14 + 0.000 10.000 0.0 0.85 8.5 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 6.000 6.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ==tk !
No. 14 + 6.000 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 .
N R ILXE
o. 43 + 0.000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 O+ TIoTeht
No. 44 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 - ~R
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ¥ Rl
No. 46 + 0.000 4.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 47 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0

N F 730.000 17.0 0.0 614.1 0.0

AR E RS



HRTTHEMHEE

7 AR LTA Bl PR LB B2 KRB C B3
= g 2.5mXK i 2.5mEL E4.0m*E 4.0mLlE i
ek EiEm® E#m’ FEN | BEm’ I’ KEm | @B EYm A | BEmS Em? | EE
No. 47 + 0.000 0.0 0.0 0.0
No. 47 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 48 + 0.000 10.000 1.1 0.55 55 0.0 0.00 0.0 0.0 0.00 0.0
No. 48 + 5.000 5.000 04 0.75 3.8 1.8 0.90 4.5 1.2 0.60 3.0
No. 49 + 0.000 15.000 0.0 0.20 3.0 0.0 0.90 13.5 11.5 6.35 95.3
No. 50 + 0.000 20.000 0.1 0.05 1.0 0.0 0.00 0.0 9.2 10.35 207.0
No. 51 + 0.000 20.000 0.0 0.05 1.0 0.0 0.00 0.0 0.0 4.60 92.0
Ne- 54 + 0000 20-000 00 000 00 00 0.00 00 00 000 00
Ne- 54 += 14319 2851 00 000 00 00 0.00 00 00 000 00
Ne- 56 + 0.000 20-000 00 000 00 00 0.00 00 00 000 00
Ne- 56 *+ 13966 3933 00 000 00 00 0.00 00 00 000 00
No. +
No. +
No. +
No. + iﬁﬂBQ(Ki)66.3m3§
No. + TIHEETIHLETS
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
N E 80.000 14.3 18.0 397.3
= 810.000 31.3 18.0 1011.4

AR E I



ERITIHESHESE
A BiAET B4 ik L+ B5 ikt B6
pilf=1 R 2.5mEH 2.5mEl F4.0mEKiE 40mLLE B =
B0 B EiEM' F¥m® FE | @Em’ M’ FEN | @En M’ A | @EmT Em | FEm
Ne- 0 + 0000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne- 1+ + 0000 20000 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 1 + 1360 1.360 00 0.00 00 00 0.00 0.0 0.0 0.00 0.0
Ne- 2 + 0000 18640 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 3 + 0000 20000 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 3 + 15324 15324 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 4 + 0000 4676 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 5 + 0000 20000 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 6 + 0000 20000 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 6 + 0288 9.288 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 7 + 0000 10712 00 0.00 00 00 0.00 00 00 0.00 00
Ne- 8 + 0000 20000 7.9 395 790 06 0.30 60 88 440 880
Ne- 8 + 19288 19288 33 560 1080 00 0.30 58 20 540 1042
Ne- 9 + 0000 0712 34 335 24 00 0.00 00 21 205 15
Ne. 10 + 0000 20000 55 445 890 78 390 780| 356 1885 3770
Ne. 10 + 10000| 10.000 0.2 285 285 05 415  415| 1557 9565 9565
No. 11 + 0.000 10.000 0.4 0.30 3.0 0.6 0.55 55| 189.6 17265 17265
No. 11 + 17.145 17.145 0.3 0.35 6.0 0.0 0.30 51| 344 11200 19202
No. 12 + 0.000 2.855 0.0 0.15 0.4 5.8 2.90 83| 223 2835 80.9
No. 13 + 0000 20.000 2.2 1.10 22.0 0.9 3.35 67.0 00 1115 2230
No. 13 + 10.000 10.000 0.3 1.25 125 0.0 0.45 45 0.0 0.00 0.0
No. 14 + 0000 10.000 0.0 0.15 15 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 6.000 6.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ==tk !
No. 14 + 6.000 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 .
N R ILXE
o. 43 + 0000/ 560.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 B+ T (-Ts b
No. 44 + 0000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ~ -8
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ¥ Rl
No. 46 + 0000 4.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 47 + 0000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
N F 730.000 45.4 90.4 3950.6 0.0

AIRERE10
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Bo b RIAEE T B4 AL B5 BRiAREL B6
= g 2.5mXK i 2.5mEL E4.0m*E 4.0mLlE i
ek EiEm® E#m’ FEN | BEm’ I’ KEm | @B EYm A | BEmS Em? | EE

No. 47 + 0.000 0.0 0.0 0.0
No. 47 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 48 + 0.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 48 + 5.000 5.000 0.5 0.25 1.3 0.0 0.00 0.0 0.0 0.00 0.0
No. 49 + 0.000 15.000 1.1 0.80 12.0 0.0 0.00 0.0 3.8 1.90 28.5
No. 50 + 0.000 20.000 0.0 0.55 11.0 0.0 0.00 0.0 0.0 1.90 38.0
No. 51 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne- 54 + 0000 20-000 00 000 00 00 0.00 00 00 000 00
Ne- 54 += 14319 2851 00 000 00 00 0.00 00 00 000 00
Ne- 56 + 0.000 20-000 00 000 00 00 0.00 00 00 000 00
Ne- 56 *+ 13966 3933 00 000 00 00 0.00 00 00 000 00
No. +
No. +
No. +
No. +
No. i T FB9(&K 1 )66.3m3%
No. + TITHEETHLETS
No. +
No. +
No. +
No. +
No. +
No. +
No. +

N E 80.000 24.3 0.0 66.5

& 810.000 69.7 90.4 4017.1

AIRERE1



ERITIHESHESE
#A1 BE®%tT B7 BiAsr T BS +3+ B9
Al = iR i =
B0 B EiEM' F¥m® FE | @Em’ M’ FEN | @En M’ A | @EmT Em | FEm

Ne. 0 + 0000 01 0.10 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 1 + 0000/ 20000 00 005 10 00 0.00 00 0.0 0.00 00
Ne- 1 + 1360 1.360 ot 0.05 01 00 0.00 0.0 0.0 0.00 0.0
Ne. 2 + 0000 18640 00 005 09 00 0.00 00 0.0 0.00 00
Ne. 3 + 0000 20000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 3 + 15324 15324 00 0.00 00 00 0.00 0.0 0.0 0.00 00
Ne. 4 + 0000 4676 01 0.05 0.2 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 5 + 0000 20000 05 0.30 60 00 0.00 0.0 0.0 0.00 00
Ne. 6 + 0000 20000 08 065 130 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 6 + 90288 9288 05 065 60 00 0.00 00 0.0 0.00 00
Ne. 7 + 0000 10712 0.3 0.40 43 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 8 + 0000/ 20000 09 060 120 02 010 20 52 260 520
Ne. 8 + 19288 19.288 1.0 095 183 0.0 010 1.9 22 370 714
Ne. 9 + 0000 0712 10 100 07 00 0.00 0.0 22 220 16
Ne. 10 + 0000 20000 16 130 260 464 2320 4640 47 345 690
Ne. 10 + 10000/ 10.000 16 160  160| 1751 11075 11075 43 450 450
No. 11 + 0.000 10.000 1.6 1.60 16.0] 2631 21910 21910 3.3 3.80 38.0[ 1
No. 11 + 17.145 17.145 0.6 1.10 189 2171 24010 41165 0.0 1.65 28 3|0 FAILFIER 5 (BRER)
No. 12 + 0.000 2.855 0.6 0.60 17| 2149 21450 6124 0.0 0.00 00| | V=2.0m*0.3m=0.6m2
No. 13 + 0.000 20.000 0.7 0.65 130| 2049 20840 41680 0.0 0.00 00| | 0.6m2*40m=24.0m3
No. 13 + 10.000 10.000 0.7 0.70 70| 1731 189.00 18900 0.0 0.00 0.0
No. 14 + 0.000 10.000 0.0 0.35 35| 1754 17410 17410 0.0 0.00 0.0
No. 14 + 6.000 6.000 0.0 0.00 00| 17514 17510 10506 0.0 0.00 0.0 ==tk !
No. 14 + 6.000 0.000 0.0 0.00 0.0 00 8755 0.0 0.0 0.00 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 00 0.00 00 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 00 0.00 0.0 0.0 0.00 0.0 .
N R ILXE
o. 43 + 0.000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 O+ TIoTeht
No. 44 + 0.000 20.000 0.0 0.00 0.0 00 0.00 0.0 0.0 0.00 0.0 - ~R
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 00 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ¥ Rl
No. 46 + 0.000 4.000 0.0 0.00 0.0 00 0.00 0.0 0.0 0.00 0.0
No. 47 + 0.000 20.000 0.0 0.00 0.0 00 0.00 0.0 0.0 0.00 0.0

N F 730.000 60.1 157695 66.3 0.0

AHRER12



HRTTHEMHEE

Bo b BRERL B7 AL XL B8 T3+ B9
= iR i
EE B EiEm® FHm’ FKE | @B T B @MY EmS KB | BEmT EEm’ &E

No. 47 + 0.000 0.0 0.0 0.0
No. 47 + 10.000 10.000 0.0 0.00 0.0 00 0.00 00 0.0 0.00 0.0
No. 48 + 0.000 10.000 0.6 0.30 3.0 01 0.05 05 0.0 0.00 0.0
No. 48 + 5.000 5.000 0.0 0.30 15 00 005 03 0.0 0.00 0.0
No. 49 + 0.000 15.000 0.6 0.30 45 35 175 263 0.0 0.00 0.0
No. 50 + 0.000 20.000 0.6 0.60 12.0 58 485 930 0.0 0.00 0.0
No. 51 + 0.000 20.000 0.1 0.35 1.0 0.0 290 580 0.0 0.00 0.0
Neo. +
No- +
Neo. +
No- +
Neo. +
No- +
Neo. +
No- +
No- + T FIB9(&KT)66.3m3% T T E
Ne- + ETHLETS
Neo. +
Ne- + BRER V=24.0m3 &K
Ne- + .

h 80.000 28.0 1781 0.0

& 810.000 88.1 159476 66.3

AHRERE3



ERITIHESHESE
A5 INEEYMT KIE INEEYTIER INEEYTIIER I INEEYTIER
pilf=1 iR R BXEREImMUE EXEREIMUE4AnEE BXRXERIEImES B =
B0 B EiEM' F¥m® FE | @Em’ M’ FEN | @En M’ A | @EmT Em | FEm

Ne. 0 + 0000 1.2 1.20 0.0 0.0 0.00 0.0 0.0 0.00 0.0 05 050 0.0
Ne. 1 + 0000/ 20000 12 120 240 00 0.00 00 0.0 0.00 00 05 050 100
Ne. 1 + 1360 1.360 1.2 1.20 16 0.0 0.00 0.0 0.0 0.00 0.0 05 0.50 0.7
Ne. 2 + 0000 18640 12 120 224 00 0.00 00 0.0 0.00 00 05 050 93
Ne: 3 + 0000 20000 13 1.25 250 0.0 0.00 0.0 0.0 0.00 0.0 06 055 10
Ne. 3 + 15324 15324 11 120 184 00 0.00 0.0 0.0 0.00 00 05 055 84
Ne. 4 + 0000 4676 1.0 1.05 49 0.0 0.00 0.0 0.0 0.00 0.0 05 050 23
Ne. 5 + 0000 20000 10 100 200 00 0.00 0.0 0.0 0.00 00 05 050 100
Ne. 6 + 0000 20000 05 075 150 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.35 7.0
Ne. 6 + 90288 9288 06 055 51 00 0.00 00 0.0 0.00 00 03 025 23
Ne. 7 + 0000 10712 0.7 0.65 7.0 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.30 3.2
Ne. 8 + 0000/ 20000 07 070 140 00 0.00 00 0.0 0.00 00 03 0.30 6.0
Ne. 8 + 19288 19.288 05 0.60 116 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.25 48
Ne. 9 + 0000 0712 05 050 04 00 0.00 0.0 0.0 0.00 00 02 020 01
Ne. 10 + 0000 20000 0.0 0.25 50 0.0 0.00 0.0 0.0 0.00 0.0 0.0 010 20
Ne. 10 + 10000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 0.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 17.145 17.145 05 0.25 43 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.10 1.7
No. 12 + 0.000 2.855 05 0.50 14 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 0.6
No. 13 + 0.000 20.000 05 0.50 10.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 40
No. 13 + 10.000 10.000 05 0.50 5.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 2.0
No. 14 + 0.000 10.000 0.6 0.55 55 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 20
No. 14 + 6.000 6.000 0.6 0.60 3.6 0.0 0.00 0.0 0.0 0.00 00 0.2 0.20 1.2 P oY=t bl
No. 14 + 6.000 0.000 0.0 0.30 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.10 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ko LS
No. 43 + 0.000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 00| wrm Ty Ti—Tabt
No. 44 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 - ~R
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 0.000 2.2 1.10 0.0 0.0 0.00 0.0 0.0 0.00 00 0.8 0.40 0.0 =X bl |
No. 46 + 0.000 4.000 2.2 2.20 8.8 0.0 0.00 0.0 0.0 0.00 0.0 0.8 0.80 3.2
No. 47 + 0.000 20.000 25 2.35 47.0 0.0 0.00 0.0 0.0 0.00 0.0 0.9 0.85 17.0

N F 730.000 85.6 0.0 0.0 31.7

AIRERE14



HRTTHEMHEE

#A1 IMNEEYMT KIE IMNEEMTIER IMNEEYTIIER | IMNEEMTIER
= iR R EAERIE4MUELE  [BXEREImU E4AnKGE BXEREBEInEKS i
EE B EiEm® E#m’ FEN | BEm’ I’ KEm | @B EYm A | BEmS Em? | EE
No. 47 + 0.000 25 0.0 0.0 09
No. 47 + 10.000 10.000 2.6 2.55 255 0.0 0.00 0.0 0.0 0.00 0.0 0.8 0.85 8.5
No. 48 + 0.000 10.000 1.3 1.95 195 0.0 0.00 0.0 0.0 0.00 0.0 0.6 0.70 7.0
No. 48 + 5.000 5.000 2.5 1.90 95 0.0 0.00 0.0 0.0 0.00 0.0 09 0.75 3.8
No. 49 + 0.000 15.000 1.3 1.90 28.5 0.0 0.00 0.0 0.0 0.00 0.0 0.7 0.80 12.0
No. 50 + 0.000 20.000 14 1.35 27.0 0.0 0.00 0.0 0.0 0.00 0.0 0.5 0.60 12.0
No. 51 + 0.000 20.000 3.5 245 49.0 0.0 0.00 0.0 0.0 0.00 0.0 1.4 0.95 19.0
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No. +
h 80.000 159.0 0.0 0.0 88.7
& 810.000 2446 0.0 0.0 120.4

AHRER15



ERITIHESHESE
A5 PEEE T IR PERETIER BEERETIER I PERTIHR
pe P R REF—ThIF) BEREREIMUE [BAEREIMHU EInEE SAERIEBInED B =
B0 B EiEM' F¥m® FE | @Em’ M’ FEN | @En M’ A | @EmT Em | FEm

Ne. 0 + 0000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 1 + 0000/ 20000 00 0.00 00 00 0.00 00 0.0 0.00 00 00 0.00 00
Ne. 1 + 1360 1.360 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 2 + 0000 18640 00 0.00 00 00 0.00 00 0.0 0.00 00 00 0.00 00
Ne. 3 + 0000 20000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
Ne. 3 + 15324 15324 18 090 138 00 0.00 0.0 0.0 0.00 00 06 030 48
Ne. 4 + 0000 4676 35 265 124 0.0 0.00 0.0 0.0 0.00 0.0 08 070 3.3
Ne. 5 + 0000 20000 53 440 880 00 0.00 0.0 0.0 0.00 00 06 070 140
Ne. 6 + 0000 20000 3.7 450 90.0 0.0 0.00 0.0 0.0 0.00 0.0 06 060 120
Ne. 6 + 90288 9288 50 435 404 00 0.00 00 0.0 0.00 00 06 060 56
Ne. 7 + 0000 10712 53 515 55.2 0.0 0.00 0.0 0.0 0.00 0.0 06 0.60 6.4
Ne. 8 + 0000/ 20000 52 525 1050 00 0.00 00 0.0 0.00 00 05 055 U0
Ne. 8 + 19288 19.288 52 520 1003 0.0 0.00 0.0 0.0 0.00 0.0 05 050 96
Ne. 9 + 0000 0712 52 520 37 00 0.00 0.0 0.0 0.00 00 05 050 04
Ne. 10 + 0000 20000 0.0 260 520 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.25 5.0
Ne. 10 + 10000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 0.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 17.145 17.145 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 12 + 0.000 2.855 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 13 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 13 + 10.000 10.000| 12.4 6.20 62.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 0.000 10.000 0.0 6.20 62.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 6.000 6.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 00 0.0 0.00 0.0 P oY=t bl
No. 14 + 6.000 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 ko LS
No. 43 + 0.000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 00| wrm Ty Ti—Tabt
No. 44 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 - ~R
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 0.000| 17.0 8.50 0.0 0.0 0.00 0.0 0.0 0.00 00 1.2 0.60 0.0 =X bl |
No. 46 + 0.000 4000 170 17.00 68.0 0.0 0.00 0.0 0.0 0.00 0.0 1.2 1.20 48
No. 47 + 0.000 20000 110 1400 280.0 0.0 0.00 0.0 0.0 0.00 0.0 1.2 1.20 24.0

N F 730.000 472.0 0.0 0.0 28.8
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HRTTHEMHEE

#A1 VERE T IR1E PEERTIER PERTHHER | PEEETIER
gt R KEA—ThvE) EAEREImULE  [RAEREEImUEImER SXEREImESD 15
EE B EiEm® FHm’ FKE | @B T B @MY EmS KB | BEmT EEm’ &E
No. 47 + 0.000 11.0 0.0 0.0 1.2
No. 47 + 10.000 10.000 8.3 9.65 96.5 0.0 0.00 0.0 0.0 0.00 0.0 1.2 1.20 12.0
No. 48 + 0.000 10.000 2.9 5.60 56.0 0.0 0.00 0.0 0.0 0.00 0.0 0.6 0.90 9.0
No. 48 + 5.000 5.000 2.7 2.80 14.0 0.0 0.00 0.0 0.0 0.00 0.0 0.6 0.60 3.0
No. 49 + 0.000 15.000 0.0 1.35 20.3 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.30 45
No. 50 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 51 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No- +
No. +
h 80.000 186.8 0.0 0.0 28.5
& 810.000 658.8 0.0 0.0 57.3

AHRERTT



EET EHEE

% b1 E - - BT 8=
Y1EE A= 4667 4667 | m?’ 466.7

BtEm 2
A= 2508 0.0 2508 | m 250.8

YL@ 2
BE<vrT V= 466.7 466.7 | m 466.7

Etixm 2
WEE—FT V= 250.8 2508 | m 250.8
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ZEIHEHESE

Al (P EEmEGEE<TYRT) cURE EEmGEE S —RT) Bl
Al = iR i =

BEBE  [EE(m) TH(m) @ MOLEER (M) FH (M) @i (m?)

Ne. 0 + 0000 01 0.10 0.0 08 0.80 0.0

Ne. 1 + 0000/ 20000 29 150 300 04 060 120

Ne- 1 + 1360 1.360 33 310 42 10 070 1.0

Ne. 2 + 0000 18640 00 165 308 04 070 130

Ne. 3 + 0000 20000 0.2 0.10 20 0.0 0.20 40

Ne. 3 + 15324 15324 04 0.30 46 01 005 08

Ne. 4 + 0000 4676 0.0 0.20 09 01 010 05

Ne. 5 + 0000 20000 41 205 410 09 050 100

Ne. 6 + 0000 20000 0.0 205 410 1.2 105 210

Ne. 6 + 90288 9288 119 595 553 09 105 98

Ne. 7 + 0000 10712 100 1095 1173 05 070 15

Ne. 8 + 0000/ 20000 86 930 1860 191 980 1960

Ne. 8 + 19288 19.288 0.3 445 858 89 1400 2700

Ne. 9 + 0000 0712 03 0.30 02 89 890 63

Ne. 10 + 0000 20000 0.0 015 30| 174 1315 2630

Ne. 10 + 10000/ 10.000 0.0 0.00 00| 159 1665 1665

No. 11 + 0.000 10.000 0.0 0.00 00[ 124 1415 1415

No. 11 + 17.145 17.145 20 1.00 17.1 0.0 6.20 106.3

No. 12 + 0.000 2.855 1.7 1.85 5.3 0.0 0.00 0.0

No. 13 + 0.000 20.000 3.9 2.80 56.0 0.0 0.00 0.0

No. 13 + 10.000 10.000 5.9 4.90 49.0 0.0 0.00 0.0

No. 14 + 0.000 10.000 102 8.05 80.5 0.0 0.00 0.0

No. 14 + 6.000 6.000] 102  10.20 61.2 0.0 0.00 0.0 ==tk !

No. 14 + 6.000 0.000 0.0 5.10 0.0 0.0 0.00 0.0

No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0

No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 .

No. 43 + 0.000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 iﬁgi’;’ﬁ%ﬁ "

No. 44 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 - ~R

No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0

No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0

No. 45 + 16.000 0.000 9.4 470 0.0 0.0 0.00 0.0 ¥ Rl

No. 46 + 0.000 4.000 9.4 9.40 37.6 0.0 0.00 0.0

No. 47 + 0.000 20.000 0.0 4.70 94.0 0.0 0.00 0.0

N F 730.000 400.7 24738
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ZEIHEHESE

Al (i mGEE < YRT) CLUR T EmGEE T —RT) BY
Bl R &
BEBE  [EE(m) TH(m) @ MOLEER (M) FH (M) @i (m?)
No. 47 + 0.000 0.0 0.0
No. 47 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 48 + 0.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 48 + 5.000 5.000 6.4 3.20 16.0 0.0 0.00 0.0
No. 49 + 0.000 15.000 0.0 3.20 48.0 0.0 0.00 0.0
No. 50 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 51 + 0.000 20.000 0.2 0.10 2.0 0.3 0.15 3.0
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
No. +
N ET 80.000 66.0 3.0
= 810.000 466.7 250.8
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METHEREHR

T & = | i y3 A Hfi| # = =
SHET N B

— A% =RIE BATRET7ZI(0F)| m2 1800.1 [t=5cm

LR BAHERERAC-30)| m2 1800.1 |[t=15cm

TR H4EH7994—739(RC-40)| m2 1800.1 [t=35cm

CREHFIBt=TcmEL)
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MET HEZE

£ 7 5t g = =28 ) =
FEHE ABE

%

EdE] A= 1800.1 + + + 1800.1 | m?
BEFHNETAOY

(20F)

ERE A= 18001 + + + 1800.1 | m?
BEHERERR

(C-30)

TERE A= 18001 + + + 1800.1 | m?
BEI79—7Y

(RC-40)

(ELEIFIBET)
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HELHESRHESE

A5 =RE Bk TR
pilf=1 R | BEFAETRAOVQ0F) | BERMERERAC-30)| BAEIF7vVr—7V(RC-40) B =
B0 B Bm | FEm | B’ Bm | Fm | @Em’ | EBm | EFm | @B
Ne. 0 + 0000 113 1125 00| 137 1125 00| 13 1125 0.0
Ne. 1 + 0000 20000 113 1125 2250 113 1125 2250| 143 1125 2250
Ne. 1 + 1360 1360 113 1125 153 13 125  153| 13 1125 15.3
Ne. 2 + 0000 18640/ 113 1125 2097 113 1125 2097 143 1125 2007
Ne. 2 + 10000/ 10000 143 1425 1125 113 125 H25| 143 1125 1125
Ne. 3 + 0000 10000 108 1100 1100/ 108 1100 1100/ 108 1100 1100
Ne. 3 + 15000/ 15000/ 100 1038 1557 100 1038 1557 100 1038 1557
Ne. 3 + 15324 0324 100 1000 32| 100 1000 32| 100 1000 32
Ne. 4 + 0000 4676 100 1000 468 100 1000 468 100 1000 468
Ne. 5 + 0000 20000 100 1000 2000/ 100 1000 2000/ 100 1000 2000
Ne. 6 + 0000 20000 100 1000 2000/ 100 1000 2000/ 100 1000 2000
Ne. 6 + 90288 9283 100 1000 929/ 100 1000 929 100 1000 929
Ne. 7 + 0000 10742 100 1000 1071| 100 1000 1071| 100 1000 1071
Ne. 8 + 0000 20000 100 1000 2000/ 100 1000 2000/ 100 1000 2000
Ne. 8 + 19288/ 19288 100 1000 1929 100 1000 1929| 100 1000 1929
Ne. 9 + 0000 0712 100 1000 71| 100 1000 71| 100 1000 71
Ne. 10 + 0000 20000/ 100 1000 2000 100 1000 2000/ 100 1000 2000
Ne. 10 + 10000 10000 100 1000 1000| 100 1000 1000/ 100 1000 1000
No. 11 + 0.000 10.000f 100 | 1000 1000 100 1000 1000/ 100 10.00  100.0
No. 11 + 17.145 17.145| 100 1000 1715/ 100 1000 1715/ 100 1000 1715
No. 12 + 0.000 2.855 100  10.00 286/ 100  10.00 286/ 100  10.00 28.6
No. 13 + 0.000 20.000f 100 1000 2000/ 100 1000 2000/ 100 10.00 200.0
No. 13 + 10.000 10000 100 1000 1000/ 100 1000 1000/ 100 10.00 100.0
No. 14 + 0.000 10000/ 100 1000 1000/ 100 1000 1000/ 100 10.00 100.0
No. 14 + 6.000 6.000| 10.0 10.00 60.0| 100 10.00 60.0| 100 10.00 60.0 ==tk !
No. 14 + 6.000 0.000 0.0 5.00 0.0 0.0 5.00 0.0 0.0 5.00 0.0
No. 14 + 7.145 1.145 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 15 + 0.000 12.855 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 b ILIX S
No. 43 + 0.000| 560.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 WA+ TIIZTE L
No. 44 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 45 + 16.000 16.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 & S AP
No. 45 + 16.000 0.000 10.0 5.00 00| 100 5.00 00| 100 5.00 0.0
N F 706.000 760.1 760.1 760.1
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HELHESRHESE

#A1 == LERRAR TEREE
= Fig | BETRNETRXOV(20F) | BAREREREC-30) | BEI79¥v—7(RC-40) i
EE B Bm | FHm @M’ | EBm  Fm @EmM| EBm | Fm | @Em’

No. 45 + 16.000 10.0 10.0
No. 46 + 0.000 4.000 10.0 10.00 40.0 10.0 10.00 40.0 10.0 10.00 40.0
No. 47 + 0.000 20.000 10.0 10.000 2000 10.0 10.00| 2000 10.0 10.000 2000
No. 47 + 10.000 10.000 10.0 10.000 100.0 10.0 10.00| 100.0 10.0 10.000 100.0
No. 48 + 0.000 10.000 10.0 10.000 1000 10.0 10.00f 1000 10.0 10.000 1000
No. 48 + 5000 5.000 10.0 10.00 50.0 10.0 10.00 50.0 10.0 10.00 50.0
No. 49 + 0.000 15.000 10.0 10.000 1500 10.0 10.00| 1500 10.0 10.000 1500
No. 50 + 0.000 20.000 10.0 10.000 200.0 10.0 10.00| 200.0 10.0 10.000 200.0
No. 51 + 0.000 20.000 10.0 10.000 200.0 10.0 10.00| 200.0 10.0 10.000 200.0
Ne- 54 + 0000 20-000 107 1040 2080 107 1040 2080 107 1040 2080
Ne- 54 + 14468 1468 Ho 1084 1243 Ho 1084 1243 Ho 1084 1243
Ne- 54 += 14319 2851 Ho +H-00 314 Ho +H-.00 314 Ho +H-00 314
Ne- 56 + 0.000 20-000 81 924 1848 81 924 1848 81 924 1848
Ne- 56 + 10033 10033 10 156 158 10 156 758 10 156 158
Ne- 56 *+ 13966 3933 80 152 29-6 80 152 296 80 152 29-6
No- +
Ne- +
No- +
Ne- +
No. +
No. +
No. +
No. +
No. +
No. +
No. +

N ET 104.000 1040.0 1040.0 1040.0

= 810.000 1800.1 1800.1 1800.1
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HKBEMIHERR)

I & #E A wooA W% BHE| # =2 e E
HKEEYMT
A ) SAEAT E
HET TERERET RB-B600—-H600 m 0.4 | (ro2ILER)
RB-B800-H800 m 107
BFEAIE BF2-300 m 726
BF2-500 m 22.1
Xal®Er £
PU1E A& PU1-600 m 217.4 | (ro# )L ER)
PU{-800 m 88.9
PUSZ/EIE PU3-30 m 255.2
PU3-30-500 m 68.9
ANEREEIK BE2-300 m 727
HEHEART BF2-300— m 101
EEAKET +=0-5m m2 3145
HEEEKGE D600 m 87.0
E N 21 # 9
BET
D300 m 8.6
Jﬁ\ﬁ% Xal®Er £
D300 m 49 | (roRIVERM)
Xal®Er £
Po ¢ 300 m 52.7 | (roxIJLEM)
BHRAERAE
VS-B300-H(400-500)
NO.45+16.00~N0O.47+19.60(L) m 43.6
B300-H400 m 25.6
B300-H500 m 18.0
VS-B300-H(400-500)
NO.45+16.00~NO.47+19.60(R) m 43.6
B300-H400 m 25.6
B300-H500 m 18.0
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HKBEMIHESRIER (2)

I & B oAl ot BO® Bl #% & W=
BEk#EEYMT
£k - v k— LT | Kt = = Hik 3
G-B500-H600 E3l3i 5
G-B500-H700 & 1
G-B600-H600 & 1
G-B600=H1200 =i 1
G-B800-H800 BT L
& AT 2 | (roxLRmM)
G-B800-H1100 BT L S
& AT 1| (RoFRIVER)
G-B800-H1600 iR 1
G-B1000-H1100 iR 1
G-B1100-H1100 i 2
G-B1100-H1400 i 1
G-B1200-H1200 i 2
ILEx v RhRok—IL T [05MH-H1400 =03 1 (lﬁﬂiﬁgﬁﬁl)
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N

T ERAE

pi| = .
£ Lo . B = B =
kA =] £
KR E
RB-B600-H600 & NO. 51 + 4970 040 m ((VZI%;5))
EZ NO. 49 + 18499NO. 50 =+ 990 m
EFE—=ENO. 51 + 4970 970 m ST R [ 41
ZE= No 51 =+ 4970 060 m
ZE= No. 5 + 4970 360 m
= XB&sE
& i 040 m (R IVER)
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pi| m .
% L1 : B = B =
kA B =
BF2-500 Z NO. 10 + 7299 NO. 11 +  6.762 2210 m
BF-B500-H320
& i 221 m
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PUIEIEZ RERAZ

:EI] N 3l
% L1 : B = B =
kA =] £
XAEE L
PU1-600 Z NO. 45 + 11238NO. 49 + 15699 94.60 m (k>R IVERR)
B600-H600 EZ NO. 50 + 7148 NO. 51 =+ 4970 1780 m
XAEE L
A NO. 45 + 11.238 47 18.900 57.90 m (k>R IVERR)
XA+
A NO. 47 + 19.700 NO. 51 + 4570 64.90 m (L I={"))
~ = XA+
& g 21740 m (b % JVER)
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PUSBIEE IERFES
b = ; =
% W g & z % = wm =
PU3-30 E NO. 11 + 0.000 NO. 11 + 12.754 12.70 m
B300-H300 Z NO. 11 + 17.145NO. 13 + 6.872 29.20 m
£ NOo. 13 + 7.377NO. 14 + 7.145 19.70 m
E NO. 48 + 0.400 NO. 51 + 4.570 64.20 m
& NO. 11 + 0.000 NO. 11 + 16.779 16.70 m
£/ NO. 11 + 17146 NO. 11 + 18052 0.90 m
& NO. 11 + 18539 NO. 12 + 1.463 3.00 m
& NO. 12 + 1.950 NO. 14 + 6.000 44.60 m
& NO. 48 + 0.400 NO. 51 + 4.570 64.20 m
E No. 51 =+ 5370NO. 56 + 10033 10770 m
a8 & 255.20 m

AHREHEI0
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pi| = .
% L1 : B = B =
kA =] £
&4t%& D300 A NO. 11 + 7.003 11 13.135 860 m
XAl L
Z No. 11 + 13.060 490 m (L I={"))
& i 8.60 m
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£ Lo . B E B =
k5 8 F
XAl&ErE
Po ¢ 300 Z NO 11 + 13.322 NO. 14 + 6.000 52.70 m (k> #JVEER)
- XAl&s £
& = 5270 m (b2 JVXRE)
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Anmal V= 952 = 952 | m?®
At 24880 | m®
BEREL
(2.5m3 i) V= 138 = 138 m®
(25mBl E40mkE)| V= 419 = 419 m®
(4.0mEL L) V= 12359 + 2400 = 14759 | m®
BiREL
(2.5m3k i) V= 165.1 = 165.1 | m?®
(25mLl E40mkiE)| V= 2882 = 2882 | m®
(40miA L) V= 54727 + 562 = 60349 | m®
REEL V= 1024 = 1024 | m®
BiksnE+ V= 288 = 288 | m?®
At 81510 | m?®

ER {438 % 3-4



TI HEE

% 5 it 75 A B B =
1E%xT
INEEY T ERIE 954 + 1170 ‘EELEKM 2124 | m®
m3
At 2124 | m®
IMEEMTIHE
(BAERIE4mEL L) 0.0 00| m®
(BAIERIE mil E4m ) 00 + 903 & LK 903 | m°
(BAERIEImEK ) 542  + 542 | m®
At 1445 | m?®
BHIEET  wewme
&5 24880 + 2124 + 27004 | m® 2700.4
&+ IMEEMTER
BT EE 8151.0 + 1445 82955 | m?® 82955
Rt 27004 - 82955 / 0.9 (6516.8)] m* 6516.8
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HERITTITHEHTES

Al A—T Hhvk Ci FENHEAI C2 A—T Hhvk C2
=t IR B OE
ek M’ THm® K | BEm’ M’ K| BEm’ Em’ A | @EmS | Em AE°

No. 0 + 0.000 0.0 0.00 0.0 0.0 0.00 0.0 1.2 1.20 0.0
No. 0 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 1.4 1.30 13.0
No. 1 + 3.953 13.953 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.70 9.8
No. 1 + 17.905 13.953 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 2 + 15.000 17.095 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 3 + 10.178 15.178 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 4 + 10.000 19.822 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 5 + 8.959 18.959 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 6 + 8.000 19.041 71.7 35.85 682.6 0.0 0.00 0.0 0.0 0.00 0.0
No. 7 + 7.739 19.739 34.0 5285 1043.2 0.0 0.00 0.0 0.0 0.00 0.0
No. 8 + 0.000 12.261 0.0 17.00 208.4 5.9 2.95 36.2 0.0 0.00 0.0
No. 9 + 0.000 20.000 0.0 0.00 0.0 0.0 2.95 59.0 0.0 0.00 0.0
No. 9 + 14.783 14.783 27.3 13.65 201.8 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 2.741 7.958 15.6 21.45 170.7 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 10.700 7.959 0.0 7.80 62.1 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 18.371 7.671 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 11 + 15.544 17.173 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 12 + 12.718 17.174 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 13 + 5.000 12.282 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 0.000 15.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 14 + 12.353 12.353 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.10 1.2

& & 292.354 2368.8 95.2 240
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HERITTITHEHTES

HA51 IRERELTA Bl REERELB B2 BRERELC B3
p:IP =1 g 2.5mkK i 2.5mLL E4.0m*K 40mLlE B =
BERBE EiEm® | EHm® KM’ | BEm’ ETm® KM | BEm’ ETYm® A | @Em’ ETm® B

No. 0 + 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 0 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 1 + 3.953 13.953 0.1 0.05 0.7 0.0 0.00 0.0 3.7 1.85 25.8
No. 1 + 17.905 13.953 0.0 0.05 0.7 0.0 0.00 0.0 6.8 5.25 73.3
No. 2 + 15.000 17.095 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 116.2
No. 3 + 10.178 15.178 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 103.2
No. 4 + 10.000 19.822 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 134.8
No. 5 + 8.959 18.959 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 128.9
No. 6 + 8.000 19.041 0.0 0.00 0.0 0.0 0.00 0.0 0.0 3.40 64.7
No. 7 + 7.739 19.739 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 8 + 0.000 12.261 0.0 0.00 0.0 2.6 1.30 15.9 0.0 0.00 0.0
No. 9 + 0.000 20.000 0.0 0.00 0.0 0.0 1.30 26.0 6.8 3.40 68.0
No. 9 + 14.783 14.783 0.0 0.00 0.0 0.0 0.00 0.0 0.0 3.40 50.3
No. 10 + 2.741 7.958 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 10.700 7.959 0.0 0.00 0.0 0.0 0.00 0.0 6.8 3.40 271
No. 10 + 18.371 7.671 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 52.2
No. 11 + 15.544 17.173 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 116.8
No. 12 + 12.718 17.174 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 116.8
No. 13 + 5.000 12.282 0.0 0.00 0.0 0.0 0.00 0.0 6.8 6.80 83.5
No. 14 + 0.000 15.000 0.9 0.45 6.8 0.0 0.00 0.0 1.7 4.25 63.8
No. 14 + 12.353 12.353 0.0 0.45 5.6 0.0 0.00 0.0 0.0 0.85 10.5

& & 292.354 13.8 41.9 1235.9
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HERITTITHEHTES

HA51 RIAREL B4 AT BS AT B6
Bl g 2.5mkK i 2.5mLL E4.0m*K 4.0mLl E B =
BERBE EiEm® | EHm® KM’ | BEm’ ETm® KM | BEm’ ETYm® A | @Em’ ETm® B
No. 0 + 0.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 0 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 1 + 3.953 13.953 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 1 + 17.905 13.953 0.0 0.00 0.0 0.0 0.00 0.0 10.1 5.05 70.5
No. 2 + 15.000 17.095 0.0 0.00 0.0 0.0 0.00 0.0 43.0 26.55 453.9
No. 3 + 10.178 15.178 0.9 0.45 6.8 0.0 0.00 0.0 69.6 56.30 854.5
No. 4 + 10.000 19.822 0.5 0.70 13.9 2.0 1.00 19.8 38.0 53.80 1066.4
No. 5 + 8.959 18.959 1.5 1.00 19.0 1.3 1.65 31.3 7.2 22.60 428.5
No. 6 + 8.000 19.041 0.0 0.75 14.3 0.0 0.65 12.4 0.0 3.60 68.5
No. 7 + 7.739 19.739 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 8 + 0.000 12.261 0.3 0.15 1.8 7.6 3.80 46.6 0.0 0.00 0.0
No. 9 + 0.000 20.000 1.1 0.70 14.0 0.5 4.05 81.0 24 1.20 24.0
No. 9 + 14.783 14.783 0.0 0.55 8.1 0.0 0.25 3.7 0.0 1.20 17.7
No. 10 + 2.741 7.958 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 10.700 7.959 0.7 0.35 2.8 2.3 1.15 9.2 43.1 21.55 171.5
No. 10 + 18.371 7.671 0.4 0.55 4.2 1.0 1.65 12.7 48.0 45.55 3494
No. 11 + 15.544 17.173 2.0 1.20 20.6 0.0 0.50 8.6 35.0 41.50 712.7
No. 12 + 12.718 17174 0.0 1.00 17.2 0.0 0.00 0.0 38.6 36.80 632.0
No. 13 + 5.000 12.282 0.1 0.05 0.6 0.0 0.00 0.0 28.3 33.45 410.8
No. 14 + 0.000 15.000 3.0 1.55 23.3 4.6 2.30 345 0.0 14.15 212.3
No. 14 + 12.353 12.353 0.0 1.50 18.5 0.0 2.30 284 0.0 0.00 0.0
& & 292.354 165.1 288.2 5472.7 0.0
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HERITTITHEHTES

A1 RE®T B7 BRIAsL XL BS +3+ B9
Al FRI& w =
BERBE EiEm® | EHm® KM’ | BEm’ ETm® KM | BEm’ ETYm® A | @Em’ ETm® B
No. 0 + 0000 00 000 00 00 000 00] 00 000 0.0
No. 0 + 10000/ 10000 00 000 00/ 00 000 00/ 00 000 0.0
No. 1 + 3953 139053 05 025 35| 00 000 00] 09 045 6.3
No. 1 + 17905| 13953 05 050 70 00 000 00| 23 160 223
No. 2 + 15000 17005 05 050 85| 12 060 103 50 365 624
No. 3 + 10178 15178 05 050 76/ 03 075 114] 59 545 827
No. 4 + 10000 19822 05 050 99| 00 015 30| 44 515 1021 PPN
No. 5 + 8959 18959 05 050 95| 01 0.05 09| 27 355  67.3 Vﬁj];:n 11”5;1%?‘ 283)
No. 6 + 8000 19.041 00 025 48] 00 005 10 00 135 257 om s.eme s
No. 7 + 7739 19739 00 000 00/ 00 000 00/ 00 000 00 1-2m2*200m(Et X
No. 8 + 0000 12.261 02 010 12| 00 000 00| 21 105 129
No.o 9 + 0000 20000 05 035 70 00 000 00| 23 220 440
No. 9 + 14783 14783 00 025 371 00 000 00| 00 115 170
No. 10 + 2741 7958 00 000 00/ 00 000 00/ 00 000 0.0
No. 10 + 10.700 7959 05 025 20| 01 0.05 04| 64 320 255
No. 10 + 18371 7.671 05 050 38/ 00 005 04| 58 6.10 468
No. 11 + 15544 17173 05 050 86| 00 000 00| 47 525  90.2
No. 12 + 12718 17174 05 050 86| 00 000 00| 46 465 799
No. 13 + 5000 12282 05 050 6.1 00 000 00/ 39 425 522
No. 14 + 0000 15000 05 050 75| 0.1 0.05 08| 26 325 488
No. 14 + 12353| 12353 00 025 3.1 00 005 06| 00 130 161
TFB9(FK L )240m3E T THEETH LT
F3
B&PKB3 V=240.0m3 &{KB6
/'
S 292.354 102.4 28.8 802.2 0.0
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HERITTITHEHTES

A1 INEEYMTI KR INEEMIER IMEEYMTIIER I INEEMIER
p: =1 R R BXERE4InUE  [BREREIm E4mEKE SXEREImXES B OE

BERBE EiEm® | EHm® KM’ | BEm’ ETm® KM | BEm’ ETYm® A | @Em’ ETm® B

No. 0 + 0000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 0 + 10.000 10.000 0.3 0.15 1.5 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.10 1.0
No. 1 + 3953 13.953 0.1 0.20 2.8 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 28
No. 1 + 17.905 13.953 0.3 0.20 2.8 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 2.8
No. 2 + 15.000 17.095 0.0 0.15 2.6 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.10 1.7
No. 3 + 10.178 15.178 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 4 + 10.000 19.822 0.3 0.15 3.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.10 2.0
No. 5 + 8959 18.959 0.2 0.25 4.7 0.0 0.00 0.0 0.0 0.00 0.0 0.1 0.15 2.8
No. 6 + 8000 19.041 0.0 0.10 1.9 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.05 1.0
No. 7 +  1.739 19.739 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 8 + 0.000 12.261 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 9 + 0.000 20.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 9 + 14.783 14.783 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 2.741 7.958 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 10 + 10.700 7.959 0.4 0.20 1.6 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.10 0.8
No. 10 + 18.371 7.671 0.4 0.40 3.1 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 15
No. 11 + 15544 17.173 0.4 0.40 6.9 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 3.4
No. 12 + 12718 17.174 14 0.90 155 0.0 0.00 0.0 0.0 0.00 0.0 0.8 0.50 8.6
No. 13 + 5000 12.282 14 1.40 17.2 0.0 0.00 0.0 0.0 0.00 0.0 0.7 0.75 9.2
No. 14 + 0.000 15.000 1.1 1.25 18.8 0.0 0.00 0.0 0.0 0.00 0.0 0.6 0.65 9.8
No. 14 + 12.353 12.353 1.0 1.05 13.0 0.0 0.00 0.0 0.0 0.00 0.0 0.5 0.55 6.8
& & 292.354 95.4 0.0 0.0 54.2
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£ 5 g &5 A B B =
P tikm A= 15755 15755 | m? 1575.5
EtiEm 2

A= 2078.1 20781 [ m 2078.1
YtiEm 2
WE<YrT V= 15755 15755 | m 1575.5
EtiEm 2
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ZEIHEFHES

Al [UEEmGEERYAD) CUR L EmGEE T —HT) BU
p: =1 IR B OE

R [ ERE(m) FHm) @BEMO)ER () EH(m) @ (M)

No. 0 + 0000 0.0 0.00 0.0 0.0 0.00 0.0
No. 0 + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0
No. 1 + 3953 13.953 0.0 0.00 0.0 4.2 2.10 29.3
No. 1 + 17.905 13.953 0.0 0.00 0.0 9.2 6.70 93.5
No. 2 + 15.000 17.095 0.0 0.00 00| 180 1360 2325
No. 3 + 10.178 15.178 0.0 0.00 00/ 208 19.40 2945
No. 4 + 10.000 19.822 0.0 0.00 00| 16.1 18.45  365.7
No. 5 + 8959 18.959 0.0 0.00 00/ 102 1315 2493
No. 6 + 8000 19.041 16.1 805 1533 0.0 5.10 97.1
No. 7 +  1.739 19.739 96 12.85 253.6 0.0 0.00 0.0
No. 8 + 0.000 12.261 6.9 825 101.2 7.7 3.85 47.2
No. 9 + 0.000 20.000 0.0 3.45 69.0 9.1 840 168.0
No. 9 + 14.783 14.783 7.4 3.70 54.7 0.0 455 67.3
No. 10 + 2.741 7.958 4.6 6.00 47.7 0.0 0.00 0.0
No. 10 + 10.700 7.959 0.0 2.30 183 226 11.30 89.9
No. 10 + 18.371 7.671 0.0 0.00 00| 207 2165 166.1
No. 11 + 15544 17173  17.3 8.65 1485 00 1035 177.7
No. 12 + 12718 17.174] 168  17.05 2928 0.0 0.00 0.0
No. 13 + 5000 12282] 144 1560 1916 0.0 0.00 0.0
No. 14 + 0.000 15000/ 100 1220 1830 0.0 0.00 0.0
No. 14 + 12.353 12.353 0.0 5.00 61.8 0.0 0.00 0.0
& & 292.354 1575.5 2078.1
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HETHEHES

A1 == =3 TERE
p: =1 HE | BETAETRAIY 20F | BEAERERE M40 | BEYI794—70 RC40 B OE
FR B EBm | Fm M| Bm | FE¥m | @Em?| Bm FE¥m @B’ EBm Fm @Em

No. 0 + 1.900 35 3.50 0.0 33 3.30 0.0 33 3.30 0.0
No. 0 + 10.000 8.100 35 3.50 28.4 3.3 3.30 26.7 3.3 3.30 26.7
No. 1 + 3953 13.953 35 3.50 48.8 33 3.30 46.0 33 3.30 46.0
No. 1 + 17.905 13.953 35 3.50 48.8 3.3 3.30 46.0 3.3 3.30 46.0
No. 2 + 15.000 17.095 35 3.50 59.8 33 3.30 56.4 33 3.30 56.4
No. 3 + 10.178 15.178 35 3.50 53.1 3.3 3.30 50.1 3.3 3.30 50.1
No. 4 + 10.000 19.822 35 3.50 69.4 33 3.30 65.4 33 3.30 65.4
No. 5 + 8959 18.959 35 3.50 66.4 3.3 3.30 62.6 3.3 3.30 62.6
No. 6 + 8.000 19.041 35 3.50 66.6 33 3.30 62.8 33 3.30 62.8
No. 7 +  7.739 19.739 35 3.50 69.1 3.3 3.30 65.1 3.3 3.30 65.1
No. 8 + 0.000 12.261 35 3.50 42.9 33 3.30 40.5 33 3.30 40.5
No. 9 + 0.000 20.000 35 3.50 70.0 3.3 3.30 66.0 3.3 3.30 66.0
No. 9 + 14.783 14.783 35 3.50 51.7 33 3.30 48.8 33 3.30 48.8
No. 10 + 2741 7.958 35 3.50 27.9 3.3 3.30 26.3 3.3 3.30 26.3
No. 10 + 10.700 7.959 35 3.50 27.9 33 3.30 26.3 33 3.30 26.3
No. 10 + 18.371 7.671 35 3.50 26.8 3.3 3.30 25.3 3.3 3.30 25.3
No. 11 + 15544 17.173 35 3.50 60.1 33 3.30 56.7 33 3.30 56.7
No. 12 + 12718 17.174 35 3.50 60.1 3.3 3.30 56.7 3.3 3.30 56.7
No. 13 + 5000 12.282 35 3.50 43.0 33 3.30 40.5 33 3.30 40.5
No. 14 + 0.000 15.000 35 3.50 52.5 3.3 3.30 495 3.3 3.30 495
No. 14 + 12.353 12.353 35 3.50 43.2 33 3.30 40.8 33 3.30 40.8
B4+ #R(No.0fF 31) 9.4 9.4 9.4 TS A—B—IZTHEH

a5 &t 290.454 1025.9 967.9 967.9

ER{E % 3-14



HAHE R (NO. 484 —#& SARIT P [El5kE) N4k &

Ll

A\

N

%

9.40

HAL

m?2

P

ER {38 #%3-15



HKEBEMIREEHR

I B oAl B O® nE M=
BEKEEYMT

EHEET P1-RC2-D600 53.9

JLF¥ v XLP3-D300 [ m 4.2

BEE{AIE BF2-300 m 142.5

PUTEAIE PU1-300 m 59.3

PU1-600 m 52.4

PU3Z! fHI;E PU3-30-500 m 335

PL2EfHI;E PL2-B300 m 297.5

INEEHEIK PU1-600 m 27.9

okt -vuk— N T[Sk # G-B500-H600 (=13 2
G-B500-H700 (=13 1

G-B500-H800 (=13 1

G-B600-H600 (=03 1

G-B800-H800 (=13 1

G-B800-H900 & AR 2

G-B800-H1000 &3 3
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A

EHERET ERAZE

£ g ' B = B OE
£-A = = =
P1-RC2-D600 HA—ZA NO. 10 + 18371 NO. 10 +  18.371 1828 m  #EMIKERI(4)
P1-RC2-D600 4A—ZA NO. 11 + 15544 NO. 11 + 15544 1782 m  #EMIKERIG)
P1-RC2-D600 HA—Z NO. 13 + 5000 NO. 13 + 5.000 1777 m  #E#KERI(6)
& i 53.87 m
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FEMEERET ERRFE
B:| =1 -
£ b1 e & z = B OE
FL¥¥RAMP3-D300 ZE NO 0 + 10.000 NO. 0 + 10.000 418 m  HEMIKERI()
& i 418 m
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BFEEIE RS
Al =1 .
I S . = M B =
BF2-300 E NO 0 + 10.205 NO. 6 + 1.476 142.50 m
& = 1425 m
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PU1EMEE

A

SRS

sz W e & z % = O O=E
PU1-300 &/ NO. 10 + 10676 NO. 10 + 18.000 7.30 m

&/ NO. 11+ 10275NO. 11 + 15253 7.10 m

A No. 12 + 8.549 13 5.000 20.80 m

& NOo. 13 + 5000 NO. 14 + 2.053 1740 m

A NO. 14 + 2653 NO. 14 + 8.493 5.90 m

A NO. 14 + 2.353 0.80 m
= 59.30 m
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PUIEEIE ERAE
Al =1 .
8 B L. . - W 8 @ E
PU1-600 £ NO 13 + 5.400 5240 m AHRE BRI HE T
& = 5240 m
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PUSEIHIE ERAE
B:| =1 . -
£ b1 e & z B = B OE
PU3-30-500 £ NO 0 + 9.600 3350 m  AEEERICHELS
& i 33.50 m
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INRHEKPUTIE SERFRE

A

=

£ g1 - B = B O=E
E5 B S =

PU1-600 E No. 10 + 9.477 NO. 13 + 4.600 2790 m

& =t 279 m
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PL2EHIiE ERAE

pill : N
£ g : B = B OE
£-A = = =
PL2-B300 £ NOo. 0 + 0.000 NO. 0 + 9.750 10.70 m

£ No. 0 + 10287 NO. 14 + 2.100 277.10 m
A No. 14 + 2653 NO. 14 + 12353 9.70 m
& i 297.50 m
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NO.O+10.00fEHIEE L X v A% EP3-D300

4R Al EH= 0. 912%0. 726+ (0. 620+0. 536) /2%2. 10

500

4000

1000,

500

3000

500

1500

1500

4.2

ol

574. 860
2. 000%

726] 2100

=05 2

1350

2.000%

4176

TLF v R 2EEP3-DI00

it £

+(0. 536+0. 482) /2%1. 35) /(0. 726+2. 10+1. 35)=0. 614m

1020
420
7 T — T
< | S g/g|!
S|l 300 30 .
E TSN N é%t ©
520
1020 HE#Earo)—+F
£ B # RC-40 10m¥7=b

i ;| % HA| B g =%

A Ik & 300 i 4.2 N=100 = 24
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